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Word replacement Questions for SBI Clerk Mains, IBPS Clerk
Mains, SBI PO Pre and IBPS PO Pre Exams.

Word replacement Quiz 6

Direction: In the given question, four words are printed in bold and are numbered 1, 2, 3 and
4. Of these, the positions of two of these words may be incorrect and need to be exchanged
to make the sentence correct. Find the two words which need to be exchanged. In case the
given sentence is correct, your answer is (E), i.e., 'No correction required'.

1. If you had a short-term goal, then you (1) provide a fixed-income (2) product, not a
market- (3) linked product; to (4) need return predictability.

A.1-3and 2-4 B.1-2 and 3-4 C.14 D. 2-3 E. No correction required

2. The money would be used for (1) developing cutting-edge technologies for high-power,
high (2) repetition rate lasers, high quality optical (3) components and state-of-the-art
electronics and (4) software.

A 2-3 B.1-3and 2-4 C.1-2and 34 D.1-2 E. No correction required

3. He continued to (1) away a scene even as | moved (2) create and got into my (3) arrived
that had thankfully (4) auto by then.

A.1-3and 2-4 B.1-2 and 3-4 C.14 D. 2-3 E. No correction required

4, While the Bill does point out (1) recall of road safety, much-needed (2) heftier fines for
errant drivers, vehicle (3) issues norms, there’s no mention of better roads or
infrastructure (4) development.

A.1-2and 3-4 B.1-3 and 2-4 C.2-3 D.1-3 E. No correction required

5. But (1) inclusive we have gender-responsive (2) plans for urban transport in (3) place;
our cities will be far from (4) unless.

A 14 B. 2-3 C.1-2and 34 D. 1-3 and 2-4 E. No correction required

6. Over the last 25 years, psychologists have found that personalities (1) varying around
five basic (2) openness, dubbed the Big Five; everyone can be described as having (3)

coalesce levels of agreeableness, conscientiousness, neuroticism, extroversion and (4)
traits to experience.

A.1-2and 3-4 B.1-3and 2-4 C.1-3 D.1-2 E. No correction required




7. Justice in any (1) retribution society is not just about (2) civilised, but also about (3)
rehabilitation, and in less serious crimes, (4) deterrence of the offenders.

A.1-2and 3-4 B.1-3and 2-4 C.34 D.1-3 E. No correction required
8. Some 1,600 years ago, ancient Romans would have worshipped the god Mithras, (1)

consciousness in an (2) remains state of (3) possibly, within the "Mithraeum of Colored
Marbles," said archaeologists who found the (4) altered of this temple in Ostia, Italy.

A.1-2and 3-4 B.1-3 and 2-4 C.1-3 D. 1-2 E. No correction required
9. (1) Textured the ice pack of the Antarctic, there's an ancient continent, as (2) beneath

as any other, and that texture turns out to be very important for (3) predicting how and
when ice will flow and which regions of ice are most (4) vulnerable in a warming world.

A.1-2and 34 B.1-3and 2-4 C.1-3 D.1-2 E,. No correction required

10. NASA's Juno (1) pulling recently discovered a giant new storm (2) swirling near Jupiter's
south pole, a few weeks after (3) probe off a dramatic death-dodging (4) maneuver.

A.1-2and 3-4 B.1-3 and 2-4 C.1-3 D.1-2 E. No correction required

Correct Answers:
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Explanations:

1.

The statement is regarding the financial goals of a person and also the way in which you should handle
your finances based on your goals in life. It is regarding aligning your investments with your goals.
Short term goals require fixed income products whereas long term goals can be fulfilled with market
related products. If we replace 1 and 4, the sentence will become meaningful. No other replacement is
required in the sentence to make it meaningful.

The correct sentence would be:

If you had a short-term goal, then you need a fixed-income product, not a market-linked product;
to provide return predictability.

This makes Option C the correct choice among the given options.

The sentence is correct in the present form and no replacement is required in the present statement in
order to make it correct.

This makes Option E the correct choice among the given options.

According to the context of the given statement it is regarding the fact that the person moved away
but the other person kept on hurling abuses. Thankfully the auto had arrived by then and this person
could leave in that without further inconvenience. If we replace 1-2, it will become correct but then the
later part is not making sense at all. For that we again have to replace 3-4 and then only we can see
that we have got a grammatically correct sentence that has some meaning as well.

The correct sentence would be:

He continued tocreatea scene even as | movedawayand got into my autothat had
thankfully arrived by then.

This makes Option B the correct choice among the given options.

The given statement is regarding the new law on the road safety and motor vehicles norms in the
country. It talks about various important issues but there is no reference to the importance of better
roads and infrastructure development. Now if we replace 1-3, the sentence will make sense and no
further replacement will be necessary at all.

The correct sentence would be:
While the Bill does point out issues of road safety, much-needed heftier fines for errant drivers,

vehicle recall norms, there’s no mention of better roads or infrastructure development.

This makes Option D the correct choice among the given options.




According to the given statement, it is regarding the importance of gender-responsive urban transport
plans in the country so that the cities in India become completely inclusive for all the genders. It is
going to point at a developed Indian society where it becomes possible for all the genders to go from
one place to the other easily and without any kind of discrimination. Now if we replace 1-4, the
sentence will make sense and no other change is required to be carried out in this aspect.

This makes Option A the correct choice among the given options.

The usage of ‘varying’ and ‘coalesce’ is erroneous. Their usage would be correct if they are
interchanged.

Similarly, the usage of ‘openness’ and ‘traits’ is also erroneous. Their usage would be correct if they are
interchanged.

Over the last 25 years, psychologists have found that personalities coalesce around five
basic traits, dubbed the Big Five; everyone can be described as having varying levels of agreeableness,
conscientiousness, neuroticism, extroversion and openness to experience.

Hence, option B is the correct answer.

The usage of ‘retribution’ and ‘civilised” is erroneous. Their usage would be correct if they are
interchanged.

Similarly, the usage of ‘rehabilitation’ and ‘deterrence’ is also erroneous. Their usage would be correct
if they are interchanged.

Justice in _any civilised society is not just about retribution, but also about deterrence, and in less
serious crimes, rehabilitation of the offenders.

Hence, option A is the correct answer.

The usage of ‘consciousness’ and ‘possibly’ is erroneous. Their usage would be correct if they are
interchanged.

Similarly, the usage of ‘remains’ and ‘altered’ is also erroneous. Their usage would be correct if they
are interchanged.

Some 1,600 years ago, ancient Romans would have worshipped the god Mithras, possibly in
an altered state of consciousness, within the "Mithraeum of Colored Marbles," said archaeologists who
found the remains of this temple in Ostia, Italy.

Hence, option B is the correct answer.




10.

The usage of ‘textured’ and ‘beneath’ is erroneous. Their usage would be correct if they are
interchanged.

Beneath the ice pack of the Antarctic, there's an ancient continent, as textured as any other, and that
texture turns out to be very important for predicting how and when ice will flow and which regions of
ice are most vulnerable in a warming world.

The usage of the rest of the words is absolutely correct.

Hence, option D is the correct answer.

The usage of ‘pulling’ and ‘probe’ is erroneous. Their usage would be correct if they are interchanged.

NASA's Juno probe recently discovered a giant new storm swirling near Jupiter's south pole, a few
weeks after pulling off a dramatic death-dodging maneuver.

The usage of the rest of the words is absolutely correct.

Hence, option Cis the correct answer.
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